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9. Calculate the following derivatives (you do not have to simplify).
d ;
(a) —sin™ (2
(a) = (2z)

se0 1

(b) gd% sinh(2z)

et

- : : . : dy . : :
7. Solve the following differential equation: i —3y (solve for y). Find the solution that
T

satisfles y(0) = 4.
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(a) Solve for y in terms of @1 In(y* — 1) — In(y — 1) = In(sin(z)).

o= )l g

e ¢ =

r_—_,—> 3+| - S X ’;:>

((’b))Evaluate the expression cos(aresin(2/+/z” + 4)).
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o= x

¢ {¢))For which values of 2 does the expression in (b) make sense?
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4. (a) Simplify cot(cos™!z).

6= ws (%)
H:JI~YL

X
o) 5 | A

Y,

(b) Answer true or false.

(i) Inl =e. L(A/ge }n(l)—o
(ii) The graph of the function y = Inz is decreasing. %/é& \l(
(iii) The function f(2) = Inz is not one-to-one. {;2 [<¢

(iv) Hm Inz = —oc

z—0+ +FM (7
(v) The function f(z) =sind, 0 < ¢ < 7 is one-to-one. 'Q{/SQ &-D

(vi) If f(z) =+ —2, > 2, then f7Hx) =

Q\/‘L} If fla)=+vz—2and g= f7! then ¢'(3) = 6. -H\(((g
(viil) The function f(x) = 27 is invertible because it satisfies the vertical line test. 4&(/%
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(x) If lim a, = 0, then the series Z ap CONVerges.
n—oc
n=3
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[T
) Simplify sinf{cos™ =),

R —
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(b) Determine whether the sequence converge or diverge. If it converges, find the limit.
Suppow your answer with work or an explanation.
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£ n odd
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(c) Calculate the limit lim h?%:)) = LS / /16 5/]/ JZ%/
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6. (a) Find the formula for the n-th term of the sequence 1, —

O = (‘_‘ ')M @(A =)

1
5

1 1
315077

—
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1
1 g0

2n? 4 n -+
(b) Compute lim = if the limit exists. Support your answer with work or an
n—co  3n? 4 n
explanation.
2
o —
answe "“,%
3lnn

(e Clony te i
(c) Compute lim —
’ n—o0 In(2n)

if the limit exists. Support your answer with work or an explanation.

_ h 2 nx w3 nx
i o - —
answes X~ m(ax) lr\(x\Jr/"’!/a\

fin 3 3
o+ "«

2sinh(2x
(d) Compute lim 2sinh(2z)
T—2Q

o if the limit exists. Support your answer with work or an expla-
nation.
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